A 2 0 & Al
20169 % =2 38 s (A
2o
2o 2
20 AriH 7:8E)
A+ B2 e (BA) - HRAY - BYS Hl DS 2
386,799 390,343 A 3,544
28 2F 310,058 311,758 A 1,700
e AL 2l 310,058 311,758 A 1,700
ARSI AIR R (HZH) 4,540 5,760 A 1,220
301 et A= 4,540 5,760 N 1,220
09 &AL HI B A S 3,540 4,760 21,220
O&eH 20,0003 »29H 580 1,000 A 420
ODJIEFSH A (T M 2) 0 800 A 800
HAZe () 167,829 168,309 A 480
307 glz2tol & 1,100 1,200 A 100
05 RIZt & = 1,100 1,200 A 100
OFAMSRAH 1,100,000& » 104 2 1,100 1,200 A 100
401 AIEHI L 201 109,620 110,000 A 380
01 Al&H 109,620 110,000 380
OBIAL & =X FH 109,620 110,000 A 380
HY 2 HHI 76,741 78,585 A 1,844
A2H(H2dH) 33,590 32,855 735
A2EH(2HE) 33,590 32,855 735
101 @14l 33,590 32,855 735
03 RIHAZ 22 33,590 32,855 735
O #HFAMRIA(1Y) 33,590 32,855 735
L2 &l 81,6803 x19¢ 1,552 817 735
ZHI(HZH) 43,151 45,730 N2,579
2Z0(H2) 43,151 45,730 N2,579
201 Let24E] 2,700 2,950 A 250
01 At 2t 2l 2,700 2,950 A 250
O F2Y Nz 2,700 2,950 A 250
202 044l 28,600 30,900 A 2,300
02 FHOHI 27,400 29,700 A 2,300
O AN 27,400 29,700 A2,300
405 XHobF S HI 1,771 1,800 A29
01 et ESFH S 1,771 1,800 A29
O 3o tES ¢ 1,471 1,500 A29




